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Instructions :

(i)

(iii)

(iv)

Attempt all questions.

I | afc stevas g1, i fosil sreen Yanfes o1 gaEy sifs |

Use diagrams or flow diagrams if it is necessary.

U9 Ak 23 T 26 ok o YT | Aafies faereq few mw €

In Question Nos. 23 to 26, internal options are given.

SR Yedent § U9 T hd 9T Wl Y99 shHieh fara |
Write correct Question No. in your answer copy while solving

the question.

T-93 H U T 9 STER S| fad |

Write the answer of the question paper as instructed.
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fagar : (31) U HHER 19 5 Tk ATTEaid T4 € | T T3 W 1 3% eifed

S 1 (S A AMIRIA IQ-HIH 1 I3/ 1 )
Instruction : (A) Question Nos. 1 to 5 are very short answer type questions. Each
question carries 1 mark. (Maximum word-limit of answer is

1 word / 1 sentence)

U99-1  RCH =1 @ 7 faf@w | [1]
Write the full name of RCH.

-2 S FAE? [1]
What is Ladybird ?

U9A-3  DNA TS H HF-91 SO SYIEd Sl § 2 [1]

Which charge is present in DNA fragment?

U9A-4  THR W H TEEE YR Hi yara fufar wel faerd § 2 [1]

Where is barrier type of coral reefs obtained in our nation?

WA-5  SfeEd 3% (DU) § agved | fhaeh! Hier &1 orae foman s § 2 [1]

Whose thickness in the atmosphere is measured by Dobson Unit (DU)?

T : () T HAG 6 ¥ 10 TF TSI U9 ¢ | TIF T T 2 3k Asifed & |
(I =t Afeerad Tee-HH 30 TR T)
Instruction : (B) Question Nos. 6 to 10 are short answer type questions. Each

question carries 2 marks. (Maximum word-limit of answer is

30 words)

Y9H-6  SHETHM Ud diee o § 2 Sk o ST § 2 [1+1=2]

What are Diaphragm and Vault ? What are their uses?
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[3]
ST R wHREY § #1294 | fafaw | [1+1=2]

Write any two differences between Genotype and Phenotype.

GIUTdT 1 THEATEY | 2]
Explain the Euploidy.
AehTeRIUT o &I Hewd fafad | [1+1=2]

Write two significances of Vaccination.

SENfiTen &= H STafiE ARt & HE < Hew™ fafay | [1+1=2]

Write any two significances of genetic engineering in industrial field.

: (F) U HHP 11 | 22 T TZadd U9 § | Tosh W9 W 3 i feifed
g1 (SR FI Aferehad sa-HHT 50 Ieg ©)

Instruction : (C) Question Nos. 11 to 22 are short answer type questions. Each

Y T-11

YI1-12

YI1-13

question carries 3 marks. (Maximum word-limit of answer is

50 words)

SIS i AT AT I T TR g o AR DitTC | [1%+1%=3]

Draw internal structure of ovary and label any three.

A e A S v FE A S et [14+1+1=3]

Write three measures to avoid sexually transmitted diseases.

T f5-To SLTAT, H 30% FRefaq €, @ LA § fiem are weifm
o fTd AT i TTOMT STl | [3]
A double-stranded DNA has 30% cytosine, calculate the percentage

of adenine in the DNA.
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WI-17

YI1-18

Y91-19

YI1-20

YI1-21

YIT-22

[4]
SH-fafma <t A= fagmand fafew ) [1x3=3]

Write three characteristics of crossing-over.

farg-3cafierd sl aHemsy | [3]

Explain point mutation.

TEH & UM & FiE 014 399 faf@n | [1x3=3]

Write any three measures to prevent AIDS.

UM & TATEeh TAN o Gak & a H Gieq8 o it | [3]
Describe briefy about risks due to the excessive use of alcoholic

drinks.

o ford Fed € 2 JofTea =t F1E & SufiTar fafan | [14+2=3]

What is Eugenics ? Write any two utilities of eugenics.

IR <sh h1 Ffes AU hITTT | [1Y5+1Y=3]

Describe phosphorus cycle with diagram.

IRA H I SiioH o AYce] ot o i SHRUll a1 Wied 0 it | [1+1+1=3]
Describe briefly three reasons of the indirect destruction of

wild life in India.

STl YGUUT ok 1 RN k1 0 HIfST | [1+1+1=3]

Describe three reasons of water pollution.

319 IR geTd W U fewoh fafam | [3]

Write a note on solid waste management.
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: (3) WY HH® 23 FUSTIT T B | TH Y W 4 ek Aeifed § | (SW &l
Ffehan See-Hr 75 vse ¥)

Instruction : (D) Question No. 23 is long answer type question. This question carries

UIT-23

fdor

4 marks. (Maximum word-limit of answer is 75 words)
ELTA.T, TTANTS deheileh 1 § ? 9 qeheieh o o =0T o1 U shifaq | [1+3=4]
What is Recombinant DNA Technology ? Describe its three steps.
3rerar

OR

S faferean s ® 2 Yfeifa Sufaast (ADA) &t %t &1 30T <d §T

SR gUT hifSTT |

What is Gene Therapy ? Describe it giving example of lack of

adenosine deaminase (ADA).

: (3) U HHIH 24 W 26 % SEHSIUT I © | T 99 T 5 37k 3Tefed
1 (SR I Afehan T=g-THT 750 T2 §)

Instruction : (E) Question Nos. 24 to 26 are long answer type questions. Each question

carries 5 marks. (Maximum word-limit of answer is /50 words)

U9A-24 HEARUEEY I & IR ¥ 9 fogeti | 90 S [14+2+2=5]

(37) RU

(&) <1810

(9) 399U

Describe about the Filariasis Disease on the following points :
(a) Causes

(b) Symptoms

(c) Treatment

OR
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TERREfEE U o s § Ty foigedl o aui wifv
(1) w7
(&) <181
(9) STER
Describe about the Ascariasis Disease on the following points :
(a) Causes
(b) Symptoms

(c) Treatment

Y9A-25 TEY S O3 1 AMIhd ARG SR 9 RN 1 Th-Tah @ &
fafau . [2+3=5]
(37) greee Uty
() At
(9) ghaesh

Draw a labelled sketch of male reproductive system and write one
main function of the following parts :

(a) Prostate gland

(b) Epididymis

(c) Vas deferens

OR

T S T 1 AMifohd SN@ SR 8 RN 1 Toh-Teh U@ &1 fafau
(31) sToeaTeH

() Feert (FeR)

(9) TSR

Draw a labelled sketch of female reproductive system and write one
main function of the following parts :

(a) Fallopian tube

(b) Fimbriae

(c) Ovary
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U9H-26 dicHd U4 foheh & SIL.UA.T Tisd hi TLEAT &1 9fas Ui hifag | [2+1+2=5]
Describe Watson and Crick DNA model with diagram.

3rar
OR

e SUA - § 2 T S iR WXar e e &l ST 1 9fed
Ui HifeT | [1+2+2=5]
What is Lac Operon ? Describe with diagram about the structure of

regulator gene and structural gene.

oooooooooo
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